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1 Californiahasa  bountiful  supplyof  fertile  soil for farming.

There are many  lush  forests in the Pacific Northwest.
Dense  and tall rainforests are found in the ~ West .

The area within the  rain shadow  is usually warm and dry.

Logging  isamajor _ industry  in Washington and Oregon.

Many people are concerned about deforestation

The California  Gold Rush  attracted many peoplein 1849 .

Cities like Los Angeles suffer from _ urban sprawl

O 00 NN O O i~ W BN

Traffic congestion  creates huge problems in L.A. and other cities.

10 The Inuit , sometimes called Eskimos , are Native Americans who
settled in Alaska.

() o1y Zolsigisti Clolg T2t HIzio| At MAlQ,

2IHstt irrigate | log irrigate

(Ar2l2) exlsict| deforestation | deforest | deforest

~0f Z3|Ct cut down | be stuck in be stuck in
S5t dense | bountiful bountiful
O =7101M Qg chols B2t 2.2 AeIML.,
' earthquakes richest plenty numerous major
destroyed Fault spread wildfires burn

land. And it also has more people than any other state. It has 2 plenty  of natural
resources, too. But everything is not perfect there. California has two 3 major
problems: earthquakes and forest fires. The San Andreas 4 Fault runs through
California. Because of it, the state gets many 5 earthquakes . Some of them are very

powerful. For example, there was a strong earthquake in San Francisco in 1906. It
6 destroyed many buildings. And it started 7 numerous fires. There have also

been many other strong earthquakes. Some people fear that the “big one” will hit
someday. During summer and fall, much of California is dry. So forest fires, or
8 wildfires , often start. These fires can 9 spread rapidly. They 10 burn many

forests. But they also can burn people’s homes and buildings.
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The Sun  Belt isaregion that hasawarm and sunny  climate  all year.

Inthe dry Southwest, waterisa  precious  resource.

Aquifers  with groundwater  supply  much water to the Southwest.

People build  aqueducts  to carry water from __ place  to place.

The  petroleum  industry provides many jobs in Oklahoma and Texas.

A refinery  isafactory where oilis  refined

There are huge  ranches  with thousands of ~ cows  in the Southwest.

A cattle drive  isusuallyledby  cowboys  on horses.

O 00 NN O o1 ~ W BN

The  Hopi  and Apacheliveon  reservations  in the Southwest.

10 Adobe is a sun-dried brick of  clay that the Hopi people make homes with.

() o1y Zolsigst Clolg T2t HIzio| | HA MAlQ,

(AmIE) SCt herd | drill herd

SISt refinery | refine refine

PNETe) preserve | carry on carry on
MFISNE crude oil | petrochemical | petrochemical
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flows states Oklahoma deserts Texas
through diverse conservation northern business

The American Southwest covers a very large area. But it only has a few 1 states . It
includes the states Arizona, New Mexico, Texas, and 2 Oklahoma . Most of the land

in these states is very dry. In fact, there are many 3 deserts in these areas. Because
of that, the people must practice water 4 conservation  all the time. But not all of
the land there is desert. The Colorado River 5 flows through Arizona. And the Rio
Grande River flows through Texas. Also, the Rocky Mountains go ¢ through parts of
Arizona and New Mexico. Arizona itself has a very 7_ diverse geography. Much of its
land is desert. But the Grand Canyon is in the 8 northern part of the state. Much of

the northern part of the state has mountains. Also, there are many forests in this area.
9 Texas isalso a part of the Southwest. Much of the land is very dry. But many parts
of Texas are rich with oil. The oil industry is a huge 10 business in Texas.
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1 ZH5E QENSE  bountiful . 9 urbansprawl EA|AZE St

2 248 88 _lush 10 Inuit Ole0i5, oA

3 LZIEH WMSE  dense n irrigate (EXI0l) 22 ik, 25
4 1= rain shadow 12 deforest _(ziZ) Htsich it

5 W= @i _logging 13 log (LSS) vick, slojuict

6 A2 ey deforestation 14 cutdown _ (LK) HioluiC, #ioj &7 Ict
7 BE A gold rush 15 be stuckin _~0l 215tk ~0lA B¢ Esick
8 W= A= traffic congestion 16 overpopulate ¢ nllo= DhSCH
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bountiful urban sprawl lush deforestation logging
congestion rain shadow dense gold rush Inuit

1 Californiahasa  bountiful  supply of fertile soil for farming.

2|ZL0l= SAKZ[0f £2 HI=et §= S5l 7HKIAL Tk

2 Thereare many lush  forests in the Pacific Northwest.

EHEY SMS0l= 28t =0| Hrt.

3  The area within the  rain shadow  is usually warm and dry.
HIO= U0l A= XS2 thof B2 Hzsik

4 Many people are concerned about  deforestation

2 AHS0| AE 92 et

5 Logging  is a major industry in Washington and Oregon.

H2E QS Qal7iol e Melolct

6  Cities like Los Angeles suffer from _ urban sprawl

SAMER AR} 22 EAS2 EA| AZE SYOR Oj2EE 441 Ut

7  The California  Gold Rush  attracted many people in 1849.

1849 Z2|ZL{0f2] EC 2HAlZ B2 AM~ES S0ISUCL

8 Traffic  congestion creates huge problems in L.A. and other cities.
WE ME2 LA LHE =AIS0| 2 2HIE o7 (It
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1 The Mississippi River _ delta  is where the river _empties  into the Gulf of
Mexico.

2 The Evergladesin  Florida  isahuge  wetland  area.

3 Alligators  live in the  bayous  in Mississippi.

b Agriculture  is how many Southerners make a living.

5 Cotton and tobacco are important _ cash crops in the South.

6  Farmersuse _irrigation methods  to bring water to their crops.

7  People call the Southeast the _ Bible Belt  because many people there are
very _ religious

8 Segregation _is the dividing of people because of ~ race  or gender.

9  Many blacks fought for their
10 Duringa boycott , people refuse to buy or use a company’s

services.

civil

rights

2 Zat HIFHof| M| B MA|Q

_

in the 1960s.

products  or

ASFEE money crop | cash crop | cash crop
=2[5tCt segregate | integrate segregate
XIE i$E HIX[SICH | segregate | integrate integrate
(&9) xIm tributary | source tributary

O =718 Qe clolz B2t 3.2 oMgBiALL,

segregated Civil War nonviolence African freed
discrimination blacks Movement boycotts treatment

For many years, people in the South owned black 1 African slaves. In the 1860s, the
United States fought the 2 Civil War  because of slavery. During the war, all of
the slaves were 3 freed . But there were still many problems between 4 blacks

whites. There was a lot of 5 discrimination  against blacks. Also, blacks and whites
segregated . But in the 1950s, the Civil Rights 7 Movement
began in the South. Blacks began demanding equal 8 treatment . The most famous

and

in the South were 6

leader of the movement was Martin Luther King, Jr. Blacks often organized 9 boycotts

of different places. They had sit-ins at restaurants where they weren’t allowed to eat.
King tried to use 10 nonviolence . But the police and others often used violence

against blacks. Still, in 1964, the Civil Rights Act was passed. It guaranteed equal rights
for people of all colors. 7
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1 MHIE  Sun Belt .9 refinery FINA IR IW

2. #=8t £55t _ precious 10 adobe Ol=H| =

3 = aquifer 11 herd (Am 58) =Ct =ofzict

A aqueduct 12 drill AlFstict

5 MS petroleum, oil 13 refine S}, FAISITE

6 CH==EE ranch 14 vaquero (O] EARQ|) 7}HQ|

7 AZ0| cattle drive 15 crude oil R

8 olC|A ©5 HFEX| reservation 16 petrochemical AIR3EIHNE; MFstE0|
@ HI710]| UGS O3 H7|oj|M Z2t T 5HH ZOHo|| G| X MA|Q
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reservation refinery cattle drive adobe ranch

1 Inthe dry Southwest, water isa ___precious  resource.
Axst HME XHAM 22 HESH Aot

2 People build aqueducts  to carry water from place to place.

MHEE2 0z =25 Y| fldh 28 ddelth

3 Aquifers  with groundwater supply much water to the Southwest.

Aot gRet a2 MR B2 2= Saeitt

4 The  petroleum industry provides many jobs in Oklahoma and Texas.

MR AP 23 etS0tet HIAAC B2 LXI2IE MiStiT,

5 A _ cattle drive  is usually led by cowboys on horses.

A20|= OV 2 B 7RE0[50] Ol2Ch

6  The Hopi and Apache live on __ reservations  in the Southwest.

SOED OHR|ES HMECl B H5X[0f AL UCE

7 A refinery isa factory where oil is refined.

MO TR Moy M|wlis ZEo|C)

8 Adobe  is a sun-dried brick of clay that the Hopi people make homes with.

Ol=H| H=2 S0IES0| &g UE I ASske o] 22 2% H=0(ot,
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1 The Atlantic  Coastal Plain  runs up the entire American east coast.

There are many _ mountain ranges  in the Northeast.

w

Colorful _ foliage isawell-known  feature  of the Northeast’s forests during
fall.

People in the Northeast  grow  cranberriesin  bogs .
Most ships followa  seaway  to help them get to port.

The  descendants  of Native Americans still preserve their heritage.

A city and its surrounding towns make upa __ metropolitan area

4
5
6 Heritage is the history and culture that is passed on from our ancestors.
7
8
9

A metropolis  isa very large city with overa _ million  people.

10 Theareafrom Boston to New York to Washington, D.C. is one big megalopolis .

() a1 Zoisigst Clolg Zat yIZio| Al A MALQ,

Soottt communicate | commute | commute
A descendant | heritage heritage
=l seaway | canal canal
(=2) ' bay | coast bay

O =7101M e ciolg B2t 32 ABINL.

literature English writer takes place Northeast
goes off depicted sleeps jack-o’-lantern involved

Many of the first settlers from Europe went to the 1 Northeast part of the United

States. Most of them were 2 English . They lived in New York and Pennsylvania. Some
great American 3_literature  comes from this area. The 4 writer Washington Irving
wrote many stories about this area. One of the most famous was Rip van Winkle. It
5 takes place in the Catskill Mountains in New York. In the story, Rip 6 goes
off in the mountains by himself. After meeting some ghosts, he 7_sleeps for twenty

years. Then he wakes up, returns to his village, and sees how life has changed. Another

famous story by Irving was The Legend of Sleepy Hollow. It was also set in upstate New
York. It 8 involved the Headless Horseman, who was the ghost of a man with no
head. Instead, he had a 9 jack-o’-lantern for a head. They 10 depicted early life in

the Northeast. And millions of children and adults have read them ever since.
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4 = agriculture 12 segregate _ =2lsich xict

5 SEXE cash crop 13 integrate Sei6iCt AHE tHRE HIX|sict
6 ZH irrigation 14 tributary &)X

7 MM X|CH Bible Belt 15 source 2K

8 22| XIH  segregation 16 fertile soil H|ISst E2F
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10

civil rights bayou segregation delta agriculture
cash crop irrigation boycott wetland Bible Belt

The Everglades in Florida is a huge  wetland area.
==22|Ct9] ofitf=2[0]== 7ol SX[tHolT,.

The Mississippi River _ delta  is where the river empties into the Gulf of Mexico.
OIANT] E Y272 2201 HAE ez S8{== ROk
Alligators live in the  bayous  in Mississippi.

2{0i= OIANTIS] F0flA AT

Cotton and tobacco are important _ cash crops _in the South.

Zelet HHile 5ol SR8t egAt=0lt

Farmers use  irrigation  methods to bring water to their crops.

SES2 a5 sA=E0| S22 201 27| s S AEeiTh

Agriculture  is how many Southerners make a living.

SYUS B2 RS0 dAIE Faiv k= L-olch

Many blacks fought for their  civil rights  in the 1960s.

1960 EtHofl B2 S01S0] 259 SUUHS PfaH M,

Segregation is the dividing of people because of race or gender.
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1 A _ prairie isalarge, flat area covered with grass.
2  Theeffect of the Great Lakes on the climate of the Midwest is called a
lake effect

3 The Midwest is called the _ breadbasket  of the U.S.  since  so much grain is
grown there.

Grains  like wheat, rye, and barley are often _ grown  in the Midwest.

Midwest farmers raise _ livestock like cattle, pigs, and _ sheep .

At one time, the ~ Midwest  was a part of the American __ frontier .

Early American _pioneers moved around the Midwest to _settle in the West.
The  assembly line isafastwayof manufacturing certain products.

The building of factories in the 1800s led to the  industrialization  of the U.S.

NV 00 N o0 o1 N

10 Reclamation is restoring land to its previous state after it has been mined .

() 9212 ol sigsti Clolg ot Hizol Ml 14 MAlQ,

BZSICh | cultivate | compete cultivate

A3t | industrialize | industrialization | industrialization
Z2I5ICH | assemble | manufacture assemble
HM|IZ=SHEE | assemble | manufacture manufacture

@ =711M wre tiolz T2t 233 YASHAIL,

enormous automobiles twelve plains identical
agriculture mountains lakes grains rise

The American Midwest covers an ' enormous amount of land. It starts with Ohio,

Michigan, and Indiana. It goes as far west as North and South Dakota, Nebraska, and
Kansas. There are a total of 2 twelve states in the Midwest. The land in the Midwest
is almost completely 3 identical .Itis full of 4 plains and prairies. The Midwest is
very flat land. There are no 5_mountains in it. Most hills only 6 _rise a few hundred
feet high. However, the Great Lakes are in the Midwest. These are five huge 7 lakes

located between the U.S. and Canada. Nowadays, people in the Midwest often work
in industry or 8 agriculture . In Detroit and other cities, making 9 automobiles is

a huge business. However, there are also many farmers. They grow corn, wheat, and
other 10_grains . And they also raise pigs and cows.

"
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3loF ToF coastal plain .9 foliage (L2 o =
At mountain range 10 bog ZENX|, SA|

=2, &2 seaway 11 stretch e o L e
k=FN; heritage 12 live off ~0f| 2|X[5H X|LHCE
A& 50|  descendant 13 commute Scoltl, Saboitt
CHEA|S]  metropolitan 14 canal =5t

CHEA|, SAIX]  metropolis | 15 bay (=) 2t =0
7t EAI(BE)  megalopolis 16 lock =2 U2

descendant coastal plain seaway bog megalopolis
metropolitan mountain range heritage foliage metropolis
The Atlantic  Coastal Plain  runs up the entire American east coast.

CHAQS Bl Hok= D= S5 aheh TA|of 2K ATt
Colorful _ foliage is a well-known feature of the Northeast’s forests during fall.

e St HEE 555 =52 REe E0Iok

People in the Northeast grow cranberriesin _ bogs .
S5 MEE2 SRl IHH2IE 7120
Most ships followa  seaway  to help them get to port.

Chofel HiS2 50| S50l =26l =oiFe o258 TErL

There are many  mountain ranges  in the Northeast.

SSF0l= w2 Lol ATk

A city and its surrounding towns make upa _ metropolitan _ area.
EAlRF T FEH EAIE tEAE Sdoitt

The area from Boston to New York to Washington, D.C. is one big megalopolis

HAHM 7=, HEO| 0l=2= X2 shte] 2 A =AIE0IC

Heritage  is the history and culture that is passed on from our ancestors.
TARZ P2 ZYSZFE ol U2 AR 2510|Ct,
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1 The _ Continental Divide  runs north to south along the peaks of the

Rocky Mountains.

2 The  elevation of Mount Elbert, the highest point in the Rocky Mountains, is
14,433 feet.

The highest mountain  peaks in the Rockies are usually  covered  with snow.

On mountains, no trees grow above the  timberline

A gorge isasmall canyon witha stream running through it.

Wildfires  occur every year during the dry season.

The  transcontinental railroad crosses the Rocky Mountains.

0o N o o M~ W

Ghost towns  in the Mountain States are abandoned mining towns where

no one lives.

9  Some people enjoy  whitewater  rafting on swiftly moving rivers.

10 The Rocky Mountains area  mountain chain  that runs through many

parts of the Mountain States.

() o1 Zol sigisti Clolg Zat HIzio| | HA MALQ,

~0f ZX|Ct span | rise span

(1= S0I) 38fst | deserted | sparse sparse

AP0l &X| 4= | deserted | sparse deserted

=AM gorge | timberline | timberline

O =7101M g chols 22t 22 AeIML.

Yellowstone located landscapes erupts parts
national park geysers forest visiting west

r

1_located mostly in Wyoming. But 2 parts  of it are in Montana and Idaho, too.
For many years, people had heard about a beautiful land in the 3 _west . But few ever
saw it. Then more people began 4 visiting the area in the 1800s. Also, the artist
Thomas Moran visited Yellowstone. He made many beautiful 5 landscapes of the

region. This helped 6 Yellowstone to become the first 7_national  park in 1872.

Many different animals live in Yellowstone. Bison, wolves, elk, eagles, and lots of other
animals live there. Much of the land is 8 forest . But there are also plains. And there
are even 9 geysers  there. The most famous geyser is called Old Faithful. It has this

name because it 10_erupts on a regular schedule all the time.
13
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1 =Y 2xX| prairie . 9 industrialization _Afeist

2 S5 51 lake effect 10 reclamation  7HZf 7F

3 whHiFZL|  breadbasket 11 cultivate ZESICL, XS
=== AL G Grain 12 industrialize AlHsisict 26T
5 1= livestock 13 mass-produce  CHEF MG

6 HA frontier 14 assemble ZE5Ict

7 AKX} pioneer 15 manufacture XN|IZ=SICt

8 =& 22l _assembly line 16 compete with  ~Q} 72t AMS|ICt
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breadbasket livestock lake effect reclamation  grain
industrialization frontier assembly line pioneer prairie

The effect of the Great Lakes on the climate of the Midwest is called a  lake

effect . =M=2| 7|0 0IXle LuHE2 Hsie &4 Ful2tn B2t

The Midwest is called the  breadbasket  of the U.S. since so much grain is
grown there. SM5E o1F B2 20| MHH=ZI0IM D122 ¥ HiFL2bD S2Ict

Grains  like wheat, rye, and barley are often grown in the Midwest.
2 =8 =22t 22 S=52 I SMR0lM IHHiECt,

Midwest farmers raise _ livestock like cattle, pigs, and sheep.

BAPO| SHES 4 HX| Yt 22 15 VI2C)

At one time, the Midwest was a part of the American  frontier .
Bl SARE 03 o] ARt

The __ assembly line  isa fast way of manufacturing certain products.

g 2Iel2 &8 452 tEA Mxsh= 2ot

The building of factories in the 1800s led to the ~ industrialization  of the U.S.
1800 ACH2| & 40| 0|=2 M=l= 0|01 A,

Early American  pioneers moved around the Midwest to settle in the West.
=7| 0= HWHAIEE2 MRl F2foh7 | fll SMEE SOHCHR.
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A mountain’s

-

summit s its highest point.

2 Rugged ~ mountains have  cliffs  and are very rocky.
3  The Himalayas look very ~ majestic  as they rise into the sky.
4 The Andes Mountains are the  backbone  of South America.
5 The Rocky Mountains __extend  from Canada down into Mexico.
6 Sea level  is the average level of the oceans in the world.
7  'The Mississippi __ River system includes the river and its __ tributaries
8 Riverscarry silt , which is fine sand or mud, with them as they  flow .
9  The weather in most __ deserts  is both hot and
10 Some nomadic  people live in the desert and  wander  through it.
() a1 Zolsigist Clolg 2t HIzio| Al B4 2AlQ,
~2} SWSICH | be accompanied by | | be accompanied by
be attempted by
StIstct hydrate | dehydrate | dehydrate
st rugged | majestic majestic
Azt arid | nomadic arid
O 271N Qe clolz B2t 3.2 gBiALL,
******** dimbers  finaly  thefist  pomers  highest
Himalaya succeeded Sherpa successful top

Mountains. It is located near the border o

Mount Everest is in the 1 Himalaya

Nepal, Tibet, and China. At 8,848 meters high, it is the 2 highest mountain in

the world. People call it “The Top of the World.” For years, people wanted to be
3 the _ first to climb the mountain. But no one could get to the top. Many people
tried, but none of them 4 . Some of them even died. But, in 1953,
. They were Sir Edmund Hilary and Tenzing

succeeded

at last two men were 5 successful

Norgay. Hilary was from New Zealand. Norgay was a ¢ Sherpa . Sherpas are expert
mountain 7 climbers  from Tibet and Nepal. There were nine people on the team.
They also had hundreds of 8 porters and twenty Sherpas. It took them several
days to get near the top. Some men came very close. But they couldn’t get there.
9 Finally , on May 29, 1953, Hilary and Norgay got to the top of the mountain. They

were the first people to stand on 10 _top of the world!
15
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3 The
4 The Rocky Mountains are a

parts of the Mountain States. 27| 4132
5 The

7  Some people enjoy

8 Ghost

continental divide

2 =0| 1= elevation
3 A peak
4 2SI timberline

5 =M, &2 = gorge
6 M= wildfire

transcontinental

ghost town

HIZlol| QUFS are HY|ojlA| T2t Lastn Lo

mountain chain timberline
continental divide whitewater
The Continental Divide

10

11

12

13

14

15

(EF 59 7i=0lol= =

whitewater

mountain chain A

rise £t 2olR2C}
span ~0i| ZXIC} Eo|ct
climb (thof) @2}, SErot

cliff dwelling _ (20| QIC|212)) 2= F74X|

(I 50|) Bltst, 23t

sparse

deserted QIF0| 27! AZ0| AIX| gi=

transcontinental
ghost town

wildfire
elevation

gorge
peak

runs north to south along the peaks of the

Rocky Mountains. 27| 48 247l 27| Moo 22|15 2t 220N HZO2 W0 QUCt

7] Ao XnES2 I =22 Eo T,

elevation

The highest mountain  peaks  in the Rockies are usually covered with snow.

of Mount Elbert, the highest point in the Rocky Mountains, is

14,433 feet. 27| Ao XT=0I WHE Ato] TT= 14,4330|E0|Ct

mountain

chain  that runs through many

transcontinental

S EE Hes 27| Mg Setsic,

AOfA] p=tAN RI2= LIF2F XR2EK] ph=Ct,

whitewater

CHREO| Mot 2 Jf= X2 Aol

railroad crosses the Rocky Mountains.

timberline

On mountains, no trees grow above the

O AlE2 SH0| e oM 27 2HEES S0t

towns

no one lives. Aol 0| R T AIS2 0fRE AX|

rafting on swiftly moving rivers.

in the Mountain States are abandoned mining towns where
o= BT BREEO|CL,
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Hinduism  was a religion with many  gods  that began in India.

The people in India have been  divided into four different  castes .
The  Brahmins are the highest castein  Indian  society.
Buddhism  was founded in Indiaby  Buddha .

Confucianism  was taught by the Chinese philosopher  Confucius

Taoism  wasthe philosophy of Lao Tzu.

Meditation isawayto relax ones mind and body.

There were several  dynasties  thatruled China  over the years.

O 00 NN O o1 ~ W BN

The Chinese  were the first to invent  gunpowder

10 The Silk Road wasatrade route from China to Europe.

() a1 Zolsigisti Clolz 2t Hizio| At BAlQ,

ZalsiCt | set off | determine determine

HASICH | meditate | be enlightened | meditate

THSXICH | meditate | be enlightened | be enlightened

S Buddhism | Confucianism | Confucianism

Europe Silk Road trade routes far a few
famous adventures Marco Polo returned travels

China and Europe are very '_far from each other. Today, people can fly between the
twoin2 a _ few hours. But in the past, it took months or years to go from one place

to the other. When people traveled from China to 3 Europe , they went on the Silk

Road. The Silk Road was not a real road. It was a large group of 4 trade  routes

It was called the 5_Silk ~ Road because the Chinese transported silk to the west on
it. The Silk Road became very ¢ famous because of Marco Polo. He was an Italian
adventurer. With his father and uncle, he left Italy and 7 returned twenty-four years
later. He had taken the Silk Road to China. He had many 8 adventures . He even
became an advisor to the emperor. When he came back, he wrote a book, The Travels
of 9_Marco _ Polo ,abouthis10_travels and became very famous.

17



() s goiz, oot Qa1 AR,
1. Zah =7 summit 9 rugged SEESS! HIIEMo|2|
2 ZASE Z=SE majestic 10 river system sl |
3 Stif, 28 _ backbone 11 attempt A5t ~of] =25t
4 HHC| HHX|CH extend 12 be attempted by ~0ll [ Al=E[Ct
5 oli=H sea level 13 be accompanied by ~2t S3lsiCH
6 EAL OJA} silt 14 dehydrate E5iCt SIS
7 A=t Hof2  arid 15 Mount Everest OHHAE At
5 S5 nomadic 16 Sahara Desert  Alst2h At
() 7ol Qe S BoIA B2t LRSI 2ol G TH ML
sea level rugged majestic silt backbone
river system nomadic summit arid extend
1 Rugged mountains have cliffs and are very rocky.
IR AS2 S 7|2 QUL HER{7E OF Bt
2 The Himalayas look very _ majestic  as they rise into the sky.
S|22t0k= Sk =01 201 QUOIM Ot FHYsH 22IC
3 The Rocky Mountains __extend  from Canada down into Mexico.
27| A2 FHLTHOA HAIZ7EX] 2O ACE,
4 The Andes Mountains are the  backbone  of South America.
QoA AHE ot 2|7 1e] E4~Zo|Ct,
5 The Mississippi __ River system includes the river and its tributaries.
OIAAT] Zo 72 T dut XFSs Z8elth
6 Sea level  is the average level of the oceans in the world.
ofl-HE T M7l shte] Eat #=0[0]C,
7 Riverscarry silt , which is fine sand or mud, with them as they flow.
42 s28M 12 HeliLh T2 EAS A0] LHEC,
8 Some nomadic people live in the desert and wander through it.
O R=RUS2 Al2fof A0 AlS HS0CHACY,
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() S 2SS uiiol UG Giols HlotMAlL,
1 The capital of the  Byzantine Empire  was Constantinople.
2 Another name for the  Middle Agesisthe medieval period.
3 Feudalism  was a social system in the Middle Ages.
4 The lord livedinalarge manor and managed his estate from it.
5 Knights  swore  loyalty  to their lord.
6 Chivalry  was the code of honor that medieval knights lived by.
7  Dukes, earls,and  barons wereall nobles .
8 Cathedrals  are enormous churches that  rise  high in the sky.
9 The Dark Ages began in Europe after the fall of the Roman Empire.

10 Many Europeans went on the  Crusades  to the Holy Land.
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FUHX|ct collapse | split collapse
Ea=Cle ) reign | last reign
= W serf | vassal vassal
= lord | fief lord
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Black Death fell Dark Ages eastern starvation
invaders term Middle Ages treated Western

The Roman Empire 1 fell in 476. It was conquered by Germanic 2 _invaders

In the east, there was still the Byzantine Empire. It was the 3 eastern  part of the
Roman Empire. It lasted for almost 1,000 more years. It was finally defeated in 1453.
But in Western Europe, after the fall of the 4 Western Roman Empire, the 5 Dark
Ages began. This 6 term is sometimes applied to the first 300 years after the fall
of Rome and sometimes to the whole Middle Ages. During this time, only a few
people could read and write. Throughout the 7 Middle Ages , there were very

slow improvements in people’s lives. Some kings ruled their lands fairly. Others were
very harsh. They 8 treated their people like slaves. And they taxed them very much.
Many people died of 9 starvation . Others died because of diseases. The 10 Black

Death  Kkilled almost half of the people in Europe in the fourteenth century. The
Middle Ages were a very difficult time for most people.
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1, SI=1  Hinduism .9 gunpowder _slot
2 FHAE (RIS) caste 10 SilkRoad _ A3=c Hjg
3 Hapt _ Brahmin . 11 make up one’s mind _(~s7|2) ni2eict
4 2@ _Buddhism 12 determine  Zlict
5 9@ _ Confucianism 13 setoff FBICL S7151CH
6, =11 Taoism 14 attain enlightenment _ 722 2t
7 Al meditation 15 meditate FHalsict
8 Lx dynasty . 16 sacred ANBE AMAEl=
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meditation Confucianism Buddhism Taoism caste
Hinduism gunpowder Brahmin dynasty Silk Road
1 Hinduism  was a religion with many gods that began in India.
SlFuE Q=0 ARE, B2 As 71 SuCh
2 The people in India have been divided into four different  castes .
Rl MHS2 Ul 7HX(9| THE AZ22 LiF0] ZAT
3 Buddhism  was founded in India by Buddha.
=ul= EX01 2fsl 2U=0A FAI=ACE,
b Taoism  was the philosophy of Lao Tzu.
L= X ZSo|UC
5 The Brahmins are the highest caste in Indian society.
Halak2 Qe AfslollM 7HY =2 AlZ0ICh
6 Confucianism _ was taught by the Chinese philosopher Confucius.

Fue S| HofAt SAPL 7IERC,

7 Meditation  is a way to relax one’s mind and body.

T2 A St 0t5E +171l sk B -olck

8 There were several  dynasties  that ruled China over the years.

7120 2M =2 AlHier FH AxT7F UUC,
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Many Southern states permitted  slavery  before the Civil War.

The secession of several Southern states led  to the start of the war.

The Union was made up of the Northern states.

The Confederacy —was made up of the  Southern states.

The South was in __ rebellion  against the North.

The  emancipation  of the slaves by Abraham Lincoln  freed  them.

A blockade istheclosingofa port so that no ships can get in or out.

The Civil War was a war of __ attrition , and both sides  suffered  greatly.

O 00 NN O o1 ~ W BN

The first __ironclad  ships in the world fought during the ~ war .

10 The assassination of President Lincoln happened days after the war __ended .
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SE|SICt rebel | secede secede
=25t break away | blockade blockade
SHEfSIHCH emancipate | surrender emancipate
HHAStCk rebel | fight rebel
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slavery bloodiest Civil War North generals
battles surrendered March South lost

The Civil War was the *_bloodiest war in American history. It was fought for many
reasons. One big reason was 2_slavery . The South had slaves. The North did not. The
3 Civil ~ War began after Abraham Lincoln became president. It started in 1861.
The North had more men. It also had more railroads and more industries. But the
4 South had better generals than the North. There were many 5 battles during the
war. At first, the South seemed to be winning the war. But, in 1863, General Robert E.
Lee 6 lost at Gettysburg. The next day, the South lost the Battle of Vicksburg. The
7_North began winning after that. Two Union 8 generals were very important.
General William T. Sherman cut through the South. His 9 March to the Sea from
Atlanta to the port of Savannah destroyed much of the South’s will to fight. General
Ulysses S. Grant led the Union forces. He finally defeated the South, so General Lee
10_surrendered to him.
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1 H|ZE ®|Z  Byzantine Empire .9 DarkAges EAITf

2 =AM2 medieval 10 Crusade AR

3 EZl= feudalism 11 collapse FUX|C S0|Ect

4 3, BX[ _ manor 12 split ZEIHC}, Z2kRICt, LEHOIXICH
5 7IA} knight 13 reign F2Isick xlbIch SXI5ich
6 A= chivalry 14 swear an oath  WAISICH MASICH
RS noble 15 vassal M, 7R

8 CHAISH cathedral 16 fief SE, IX|
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cathedral Dark Ages noble chivalry manor
Crusade feudalism knight medieval vassal

1 Another name for the Middle Ages is the  medieval period.
SAle| BHE 0I52 SAMl Alttolc,

2 Feudalism  was a social system in the Middle Ages.
SUME=E SMIQ| Atel M=t

3 Thelordlived in alarge manor and managed his estate from it.

s 7o YO 28N 29| ARKIE H2UCL,

b Chivalry  was the code of honor that medieval knights lived by.
7|\M=E SMC| 7IME0| W XIFez ofH FEHOA0(UCE

5 Dukes, earls, and barons were all  nobles .

T} Rl HAle D5 2Z0IUCE

6 The  Dark Ages  began in Europe after the fall of the Roman Empire.

LS Atz 20t H=e| 2Y = FEO0IM AEZACL,

7 Knights  swore loyalty to their lord.

7| = 259 G50 S&S WML

8 Many Europeans went on the  Crusades  to the Holy Land.

2 RES0| Xz MR BEE AUt
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1 Inscience, the process of asking and answering questions is called _ inquiry .

2 The scientific _method is what scientists use to ask and answer questions about
science .

3 A scientist should engagein  observation to learn about a topic.

4 An inference isan untested conclusion based on observations or

information.

We can  infer  from facts or observations to solvea  problem

Plan an _ investigation  to find out what you want to know.

A scientist _ tests  a hypothesis by conductingan _ experiment

5
6
7 A __ hypothesis is a guess about what is going to _happen .
8
9

When the datais analyzed ,ascientistcanreacha conclusion aboutit.

10 Microscopes _let people see small things very  clearly .

() o1 Zol sigisti Clolg Zat HIZio| Al Ha MALQ,

=Rl investigate | inquire inquire
7t4E MLt | hypothesize | predict hypothesize
A5 observe | analyze analyze
sHAtStCH interpret | conclude interpret
(@ =101 YL cioiz 22t 23 PBIAIL,
" hypothesis research inquiry question  method
experiments analyze wrong topic tested

Scientists have a 1__method they use when they are trying to learn something new.
It is called the scientific method of 2 _inquiry . The first step is to ask a 3_question .
It could be “Why do birds fly south for the winter?” Or it could be “How much heat
does it take for gold to melt?” Then, the scientist must do 4 research . He or she
should learn as much about the 5 topic  as possible. Next, the scientist makes a
6__hypothesis . It could be “Birds fly south for the winter because they are cold.” Or it
could be “Gold melts at 200 degrees Fahrenheit” Now, the scientist has a hypothesis,
so it must be 7 tested . Scientists do this by conducting experiments. After the
8 experiments are complete, the scientist must 9_analyze the data. Then he should

compare it with the hypothesis. Was the hypothesis right or wrong? Even with a

10_wrong hypothesis, scientists can still learn a lot.
23
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1 LOd= _ slavery .9 ironclad &zto| ElZto|
2 HY ZE| _secession 10 assassination 4

3 =l . Union 11 secede =relsict, 2alsict

4 HRSY _ Confederacy 12 break away _ OI=fsict ZElsict

5 iz ZF _ rebellion 13 rebel HioA5ic), Bigks glos|rt
6 ot emancipation 14 blockade(v)  SAsich XIEtsict

7 SH blockade 15 emancipate _ sHaiCh AISICE

8 D=, A8 attrition 16 surrender  B=sick Sasict
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Union Confederacy rebellion attrition secession
blockade emancipation ironclad slavery assassination

Many Southern states permitted  slavery  before the Civil War.

H= 0|0 B2 g2l =2 =0M=E SIS,

The  Confederacy  was made up of the Southern states.

RSU2 RO 52 0|F0M UK

or

The  Union was made up of the Northern states.

Smolye SHo| RE2 0|20{K UUCH

The South was in __ rebellion  against the North.

T S50 tsh gits Yozt

The Civil War was a war of __ attrition , and both sides suffered greatly.

S ADTOIUT, YE O 27 TS UL

The secession of several Southern states led to the start of the war.

AR R 52| 2 FED Y| Ao UL,
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The emancipation  of the slaves by Abraham Lincoln freed them.

offo[=a{el &ziofl ofgh L=0iE2l siid2 a5 A&7l

The  assassination  of President Lincoln happened days after the war ended.
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1 Anything that is living is called an __ organism

2 Microorganisms  like viruses and bacteria are so small that you need a
microscope  to see them.

Protists  are simple one-celled organisms.

Bacteria are  one-celled  organisms which often cause  diseases .

Mushrooms and yeasts are two kinds of _ fungus .

The  basic  unit of all organisms is the  cell .

The outer covering ofacellisits membrane

3
4
5
6 Vascular _ plants have tubes that carry water and nutrients to all of their parts .
7
8
9

The  nucleus  of a cell contains the parts which control its growth and
reproduction

10 Cytoplasm  islocated between the cell membrane and nucleus.

=FsiCt | split | classify classify
Ex[SICH | reproduce | replicate replicate

M| =23t nucleus | cytoplasm nucleus

O44= | microorganism | organism | microorganism

(@ =101 YL cioiz 22t 23 PBIAIL,

multi-celled defend cells organisms microscope
microorganisms specific fungi purposes divide

There are millions of types of 1 organisms on the Earth. These include animals,

plants, 2 fungi , and microorganisms. All organisms are made of 3 cells . Some

have just one cell. Others have billions and billions of them. Microorganisms are
very, very small. In fact, you can't even see them without a 4 microscope . Bacteria

and protists are 5 _microorganisms . These are often one-celled organisms. How
do they reproduce? They simply ¢ divide themselves in half. This is called asexual

reproduction. But most organisms are 7__multi-celled . So they may have a few cells.

Or they could have trillions of them. Multi-celled organisms have specialized cells.
These cells often do one 8 specific  thing. They could be used to 9 defend the
organism from disease. They could be used for reproduction. They could be used for
digestion. Or they could be used for many other 10 purposes .
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1 BT =I5 S inguiny . 9 conclusion ZZ

2 1}sHX g geientific method 10 microscope ®0|AE

3 2HE observation 11 inquire 2L}, Aokt B3It
JARES eS| inference 12 investigate  EARGICH

5 Z==slCt _infer 13 hypothesize 7H4S MIRCH 7HF5iCH
6 ZEAL investigation 14 analyze EAGiCt

7 7k hypothesis 15 interpret SHAISICE THESICH

8 AlS experiment 16 conclude Z290C ZEAICH
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observation inference conclusion scientific method

hyp

1 In science, the process of asking and answering questions is called __inquiry .

othesis experiment microscope investigation
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inference  is an untested conclusion based on observations or information.

= 2EOIL HE0| 22 = YSEXA| g2 2200t
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We can __infer  from facts or observations to solve a problem.

= =HIS sllZs| floll AMMO[LE HEZREH 22 & 4 QUCL

hypothesis  is a guess about what is going to happen.

7t

2 22 20| Uof QW fol Thet FZ0|ct

6 A scientist tests a hypothesis by conducting an __experiment

Siit= HEE gezM JHEs Al

7 Planan  investigation to find out what you want to know.

U7 21 2 XS Lo T =AF AlZlS M%)

8  When the data is analyzed, a scientist can reach a __ conclusion

o]

E{7F 24T Dok 2200 el 2201 =2 4~ UCh

infer
inquiry

A scientist should engage in  observation  to learn about a topic.

about it.
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1 The  evolution of a species can take generations to __ occur .

Adaptations  are the changes animals make to get used to a new environment.

Behavior ishowanimals act in certain situations.

There are millions of _ species  of animals on the ~ planet .

Animals passon __ genetic  material to their  babies .
Some traits are __inherited ,sotheyare passed down from the parents.

2
3
4
5 Genes  are what determine which _ traits an animal inherits from its parents.
6
7
8

Heredity  is the passing of certain characteristics from parents to their
offspring

9  Genes are transferred whena _ sperm cell and an egg cell join.

10 Egg cells are the reproductive cells found in  females .

() o1y Zolsigisti Clolg T2t HIzio| At MAlQ,

i) adapt | evolve evolve
LI inherit | pass inherit
esostct behave | transfer behave
PN egg cell | sperm cell egg cell
O H7[0j|A UOLL CIO|Z Zat 22 QUABIAIL.
”””” same  recessive  parents  traits  heredity
resemble dominant offspring genes mental

People often look very similar to their 1 _parents . They might have the same face. Or
they have the 2_same color hair or eyes. Why do they look this way? The answer is
3_heredity . Heredity is the passing of 4 traits from a parent to his or her offspring.
This happens because of genes. 5 Genes  contain DNA. DNA is the basic building
block for life. Both parents pass on their genes to their ¢ offspring . So the offspring
may 7__resemble the mother, father, or both. There are dominant and recessive
genes. 8 Dominant  genes affect the body more than recessive genes. 9 Recessive

genes exist in a body. But they do not affect it. Dominant genes, however, affect the
organism. Genes do not just determine an organism’s physical characteristics. They
also determine the organism’s 10__mental characteristics. This can include intelligence.

And it may even affect personality, too.

27
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organism

2 DMZ microorganism
3 Bdd=E protist

4 BHE|2|oF M7  bacteria

5 A==, HA fungus

vascular plant

cell

membrane

HIZof| Ygr2 dkg H7|oj|M Z2f LWL SHH ZaHoj of
microorganism
vascular plant

one-celled
membrane

organism
nucleus

9 nucleus 8H, M|=tst
10 cytoplasm A|=ZE
11 classify 2Folot, LIsCt
12 divide (M7} 2Hatct, LEFICH ZIHx|cH
13 split ZXIHC RIHX|CH EFsict
14 replicate SxlISHE
15 one-celled organism  Thix A=
16 multi-celled organism CHM|E A=
| IX MA|Q

protist
fungus

organism

1 Anything that is living is called an

20F U= A2 0™ A0lE d=0(2f 2 =&t

2 Protists

HAMEE Tt T AZ0]Ct

3 Microorganisms
microscope to see them.

4 Vascular plants

o
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are simple one-celled organisms.

like viruses and bacteria are so small that you need a

i

He{H HA0[H0| L35I

have tubes that carry water and nutrients to all of their

parts. #U Az 050 2E Bz 21 YEs H=e 2E 7K1 QT

5 Bacteriaare one-celled

HEH20ls S8 A¥s Y27l HME d=0|o

6 The

nucleus

organisms which often cause diseases.

of a cell contains the parts which control its growth and

reproduction. MZe| 2 1710 Hxnt MAlS FEsks 222 P Uk

7  Mushrooms and yeasts are two kinds of _ fungus .

B 22= Rl & SFO0ICh

8 Cytoplasm
MIIEAE MIZE20t Af|lzst Afojof] ${XIeH RUCE.

is located between the cell membrane and nucleus.
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1T An_ eon isanextremelylong period of time that can be more than a
billion  years.

2 An_ era isanimportant time period in history.

The formation of the Earth took billions of years to  occur .

4 Carbon  dating is one method scientists use to  determine how old

something is.
5 Geology is the study of the Earth, rocks, and the  changes that have

occurred to the Earth.

Topography is the shape of  landforms in an area.

6

7 'The Earth’s _ crust is made up of many pieces of _ plates .

8 A fault isa boundary line where two plates meet one another.
9

The Earth’s continents move around very slowly because of __continental  drift

10 A collision  between two plates can cause  earthquakes

() a1 Zol sigisti Clolz Zat HIzio| Al Ha MAlQ,

(AlZto]) S2rt | elapse | date elapse
E=olct shake | collide collide
o3, TS tremor | seism tremor
S strike | tsunami tsunami

(@ =101 YL cioiz 22t 22 PSS,

planet crust cool atmosphere today
form creation theory continent moving

Billions of years ago, the sun formed. There was a huge disk of rocks and gases in the
solar system. Eventually, these rocks and gases began to 1 form  planets. This was
about 4.5 billion years ago. Earth was the third 2 planet from the sun. At first, the
Earth was extremely hot. But, over millions of years, it began to 3 cool down. As
the Earth cooled, water vapor started forming in the 4 atmosphere . This caused the
creation of clouds all over the planet. Soon, the clouds began dropping huge amounts
of water all over the planet. This caused the 5 creation of the Earth’s oceans, seas,
rivers, and lakes. But the Earth 4.5 billion years ago looked different from the Earth
of 6 today . Once, there was just one 7 continent on the whole planet. Why? One
clue is the 8 theory of plate tectonics. There are many plates that make up the Earth’s
9 crust . These plates are huge pieces of land. And they are constantly 10 moving .

As the Earth ages, the plates slowly move around. »
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1 XIBH2) evolution .9 spermcell EX; IM=

2 H3 adaptation 10 egg cell LEXE =

3 el behavior 11 evolve ZISt5Hct

L B species 12 adapt Bl

5 AKX} gene 13 inherit So{9ICt M|k
6 Srixiel, el genetic 14 transfer _$7lch st

7 22{g2 _inherited 15 behave _ assict

8 |{H heredity 16 characteristic E£%, EM EY

HIZIol| QOFS Gre HY|ojA] 2t LRstH Suol O TH MAQ,

adaptation egg cell evolution behavior gene
heredity sperm cell genetic inherited species
The  evolution  of a species can take generations to occur.
Ol ZO| FISH= LAMBH= o 4 M7t 22 4E ok
2 Behavior  is how animals act in certain situations.
dS52 =501 o >0l o E7 BtSsh=2t Sk 20|k
3 Adaptations  are the changes animals make to get used to a new environment.

HE2 =01 M22 2801 2=salix|7| fI5tt] 2ies Hets0|ot,

4 There are millions of  species  of animals on the planet.

AlFolls 2t &2 S=0] UL,

5 Genes  are what determine which traits an animal inherits from its parents.

FX=E S20| o EdE O 2R =RE SE=71E Z80k= Aotk

6 Heredity  is the passing of certain characteristics from parents to their

offspring. |2 22226 25 XA ofd S40| Hsix|= ZHo|ct

7 Animals passon  genetic  material to their babies.

S=2 122 M7IE0iA 78 S2S Ml

8  Genes are transferred whena _ sperm cell and an egg cell join.

TR ARt X F ZgtE m HehEICt,
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1 In hot weather, evaporation happens quickly as water becomes water _vapor .

2 Condensation is the process that lets water vapor form into  clouds  in the

atmosphere.

A _ weather map  shows the different kinds of weather a _region is having.

The humidity level measures the amount of  moisture  in the air.

Alarge body ofair that has the same characteristics is an _ air mass

A cold front  often brings colder and  drier  weather.

A __ warm front  often brings warmer and more _humid  weather.

0o N o0 o N~ W

An __ isobar isaline on a weather map that  connects  places with equal air

pressure.

9  Hurricanesare  categorized by their  wind speed

10 Rain that does not soak into the soil becomes  runoff .

() 9212 5ol Bigsts Clolg Tat wiziol Ml 414 MALQ,

== 07|ct | scale | rate rate
AHSCH soak into | rise into soak into
=2 2= raindrop | droplet droplet

CH7| air mass | atmosphere | atmosphere

0 H7[0flA QIO Cloj2 Zat 2.8 AMBIA|L,

condensation water cycle forms limited causes
evaporation precipitation collection common groundwater

There is a ' limited amount of water on the Earth. In fact, for billions of years, the

amount of water has not changed. However, water can often appear in many different
2 forms . These all make up the3 water _ cycle . The first stage is 4 evaporation .
This happens when the sun’s heat on rivers, lakes, seas, and oceans 5 causes  water

to turn into water vapor. The water vapor then rises into the air. The second stage is
6 _condensation . As water vapor rises, the air gets colder. This causes the water vapor

to turn into tiny water droplets. These droplets come together to form clouds. The third
stage is 7 precipitation . The water droplets fall to the ground in some form. The most
8 common kind of precipitation is rain. The final stage is 9 collection . When water

falls to the ground, it may flow into rivers, lakes, seas, or oceans. Or it may go down into
the ground. There, it becomes 10 groundwater . But the water cycle goes on and on.
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1 &9 0| eon . 9 continental drift _Ci= ols
2 ALK, Al7| era 10 collision 3=

3 = formation 11 elapse (AlZto]) ZHmt5ict
L St =X dating 12 date HCHE oi7 |t

5 X|Z&lst geology 13 collide with = ~2 S=sict
6 XE= topography 14 crash into ~0f S=olch
7 Z0|E, It plate 15 shake ==L ZISAIZICH
8 H= fault 16 tremor el = [
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collision era eon geology topography

formation plate dating fault continental drift

An___eon isan extremely long period of time that can be more than a billion

years. FE2 109 H 01d0] 2 += U= O Z18t MIZ0|Ct,

An__era isanimportant time period in history.
Ath= SAIM S At £20]C

Carbon  dating  is one method scientists use to determine how old something is.
YA Bt At SEYE2 SIXE0] 0 20| Lot 22 HRU=XIE SE06H| floll ARSSHE of 71X &-o|ct,

Topography is the shape of landforms in an area.
A= o X|He| X2l =2t0(Ch

A fault isaboundary line where two plates meet one another.
52 T /H9f Hol M= 2it= FARO|CE,

The  formation of the Earth took billions of years to occur.
Aol g2 Edisks ol a4 H0| 2R

The Earth’s continents move around very slowly because of  continental
drift . X7l tiE2 thE 01522 25l 015 H&5| S2/QICt,

A collision  between two plates can cause earthquakes.

I = o = O A
oo SE2 XILIE ZeZ 4 Uk,
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Matter  is made up of atoms.

2 Elements  are the basic  substances  that make up all matter.

3 Matter can be described by _ properties

4 An atom isthe smallest unit of an element.

5 A __ molecule iscreated when two or more  atoms join together.

6  An atom is the smallest  particle  of a substance.

7 A compound isasubstance that is formed by the chemical combination
of two or more elements.

8 Anobject's  solubility ishoweasilyit dissolves in water.

9 A physical change is a change that does not make a new substance.

10 When atoms become new substances, they undergoa chemical ~ reaction

() o1y Zolsigisti Clolg 2t HIZio| Al HA MAlQ,

(HAE) RIX[SIC} | take place | take up take up
Boli=/Ct occur | dissolve dissolve
alr=ye) (8 combine | react react
=3 substance | element substance
(@ =101 YL cioiz 22t 23 PABIALL,
”””” reaction  physical  substance  dissolves  chemical
compound involve undergoes carbon dioxide boiling

Matter often 1_undergoes many changes. There are two main types of changes. They

are physical and chemical changes. There are a lot of 2 physical changes. They can
often involve changing a 3 substance into a solid, a liquid, or a gas. For instance,

melting ice to get water is a physical change. And 4 boiling water to get water vapor
is another one. But it is also possible to make physical changes in other ways. For
instance, put some sugar in water and then stir it. The sugar 5 dissolves . Thatis a

physical change. Or, simply tear up a piece of paper. That is another physical change.
6 Chemical changes are different. Chemical changes 7 _involve the forming of a

new 8 compound . For instance, if sodium and chlorine come together, they undergo

a chemical 9 reaction . The result is the creation of salt. Photosynthesis is another
chemical reaction. Water and 1©_carbon _ dioxide change into sugar and oxygen.
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1 Z2H=H2)  evaporation . 9 windspeed 24

2 SZ(=8) _condensation 10 runoff |75

5 2l= weather map 11 rise into ~E Z2PIC

L 5.5 humidity 12 soakinto ~0| AHSCH

5 7|&t air mass 13 seep into ~0f AHSCt

6, eriMN cold front 14 rate Iotelct S i7|ct
7 SEtEA warm front 15 storm surge =32 sH

8 . SN isobar 16 droplet 2 SIS
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cold front condensation evaporation runoff air mass
warm front weather map wind speed humidity isobar

In hot weather,  evaporation  happens quickly as water becomes water vapor.

G2 Mol 20| 57171 =HM SLAE0| Ee| oL,

Condensation is the process that lets water vapor form into clouds in the
atmosphere. SZ2 £5717t th7|0lM FE22 HM=/H| sH= THo|ct,

The humidity level measures the amount of moisture in the air.

BEE 7] 49 229/ U LiEjHCY

Rain that does not soak into the soil becomes  runoff .

o= AHSK| E= Bl 777t 2Lt

A large body of air that has the same characteristics isan __ air mass
22 Eds 71 7ot 71 gof2|7t 7 [Holo,

A cold front  often brings colder and drier weather.
SHRATMZ TV o &2 A8 EME 720,

[y [y

An __ isobar isaline on a weather map that connects places with equal air
pressure. S22 L7|=01M 22 7|1¥E 71 XIEE H&ske A0ICt

Hurricanes are categorized by their  wind speed

=E2 O52 40| et FRECL
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1 Light waves _ are a form of energy that moves faster than anything else in

the universe

2 Reflection is the bouncing back of light when it hitsa  surface .

3 Refraction is the bending of light when it goes through an _object or surface.

4 Thermal energy measures the heat of an object.

5 The transfer of heat by matter to carry it is called  conduction

6  The transfer of heat by moving througha  heated  liquid or gas is called
convection

7  The transfer of heat  without  matter to carry itis called  radiation

8 Anobject's  conductivity isits _ ability  to transfer heat.

9 Heatcan radiate from objects like the sun .

10 Scientists use __ thermograms to detect infrared  rays.

() o1 Zol sigisti Clolg Zat HIZio| Al Ha MALQ,

(¥2) M=sict conduction | conduct conduct
HEAFSICE reflect | refract reflect
HrEHot transparent | translucent translucent
=5 d= convex lens | concave lens | convex lens

O =7101M e ciolz 22t 22 AEINL.,

energy conduction radiation hot gravity
molecules convection waves ovens touches
Heat is a form of 1__energy . It can move from place to place. There are three ways

it can move: conduction, convection, and radiation. When heat 2 touches matter,
it makes the atoms and 3 molecules in that matter move, too. These atoms and

molecules then touch other nearby ones. They start moving, too. This is 4 conduction,
and it’s the reason why the pot handle gets 5 hot . The pot itself is being heated, but
the molecules on the pot touch those on the handle. They make the handle hot, too.
6 Convection is the second way that heat moves. Convection happens when
something that can move becomes heated in 7__gravity . This can be air, water, or

some other liquid. 8 Ovens work by convection. 9 Radiation is the third way

that heat moves. This occurs when heat moves as waves. The sun heats the Earth by

radiation. The sun sends out heat in the form of 10 waves
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1 R/A element 9 chemical reaction 3f5fEES
2 (1R9)) 4, EX _property 10 matter =3 =5

3 #xt atom o takeup  (HAB) XXt

4 =2t molecule 12 take place _ lojLick wassict
5 2K} particle 13 dissolve SENe ol ==

6 SIS compound 14 break down  Zsiisich £2[6IC
7 7184, 8sl= _solubility 15 combine  Z8S5ICt

8 =22|x H3} physical change 16 react Hi=olE)

71o|l QoL ake H7|o| A 22t LRSI SHo| G| X MAQ,

HAs BE 22E 01F= 712 S2o|tf

Matter  is made up of atoms.
=22 BAIZ 0|F0I- T

An atom is the smallest unit of an element.

HXA= HA0| F|A HRIO|TL

A molecule

A= F 1 oldel EAF MZ SME o A Ert

An atom is the smallest  particle  of a substance.

HAks 229 71y A2 YXto|ot,

When atoms become new substances, they undergoa  chemical

matter physical change particle element
compound chemical reaction property solubility
Elements are the basic substances that make up all matter.

is created when two or more atoms join together.

reaction

HAE Mz2 220| 2 ti= slef 2SS 4=t

A compound

is a substance that is formed by the chemical combination of

two or more elements. 3EE2S S i 0|AfC] RIAT} SISO R Akl 0|R20{7 SEI0|CH,

properties

Matter can be described by

=2 1R Edoi| 2ol ZAFE o~ T
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1 Arteries  are the tubes that carry  blood  from your heart to the rest of
your body.
2 Veins are tiny blood vessels that move blood  around  the body.
3 'The aorta isthemain artery and the biggest blood vessel of all.
4 Blood _ circulates  throughout the bodyin  blood vessels
5  There are three types of blood cells in your body: red blood cells, white blood cells,

and  platelets

Platelets help stop _ bleeding  when you geta cut or are  wounded

Blood  pressure isthe force with which blood flows around your body.

A person’s _heart  rate isthe number of times the heart beats in a minute.

NV 00 NN o

The act of breathing is called  respiration

10 Thebodys immune system fights diseases and keeps people _ healthy .

() 921 5ol BBt Clolg Tat wiziol Ml 414 MALQ,

(&2) E0l4tt | inhale | exhale inhale
SEolct resist | respire respire
A ventricle | atrium atrium
ESEEe red blood cells | white blood cells | red blood cells

ventricle atria chambers circulatory heart
lungs aorta vessels atrium oxygen

The 1_ circulatory  system is the part of the body that controls the flow of blood. I
has many parts. The most important is the 2_heart . The heart has four 3_ chambers .
They are the left and right 4 atria and the left and right ventricles. First, blood flows

into the right 5 atrium . Then it goes to the right ventricle and into the 6 lungs .In
the lungs, oxygen is added to the blood. Then the blood returns to the heart. It goes
into the left atrium and then into the left 7 ventricle . From there, it leaves the heart
by going to the 8 aorta . The aorta is the body’s main artery. It feeds blood to the
rest of the body. The body has both arteries and veins. Together, they are called blood
9 vessels . These blood vessels take oxygen-rich blood and transport it everywhere in
the body. The body then uses the blood, which loses its 10__oxygen . Then, other veins
and arteries take the oxygen-depleted blood back to the heart, and the cycle begins
again. 37



1 oot light wave . 9 radiate = |c) SiAtE|CH

2 HEAL reflection 10 thermogram 2E7J|Ex

3 =45 refraction 11 conduct Hesict

4 Eo| 2=9| thermal 12 pass through ~& 2SsIch Safsict
5 ME conduction 13 see through ~& Ss}0{ 2t #HIEAHELCL
6 = convection 14 reflect HEAlSICE, &8 HIFCH

7 Z2A} (0HX]) radiation 15 translucent FHEES!

8§ M= conductivity 16 opaque =5Fst

refraction reflection light wave conduction radiation
radiate convection thermogram thermal conductivity
Light waves  are a form of energy that moves faster than anything else

38

in the universe. Zut= 239| CI2 ofE Lt Wa| 2Z(0l= olldXI2| 8t HEHOICH,

Refraction is the bending of light when it goes through an object or surface.
=222 0| SAL #HE S ©f 7 52{X|= Aol

Reflection is the bouncing back of light when it hits a surface.
HiAlE 20| 2H0| FEE 1 ElS0tE= Z0|ot,

The transfer of heat by matter to carry it is called  conduction

oiZh=oll Qe go| MES H=atn FErt

The transfer of heat by moving through a heated liquid or gas is called

convection . 7IEE ML} 7[HIZE S5 2%0= €| 0|5S Rt BELT

Thermal energy measures the heat of an object.
2 U Xl= =H9] = LIEHHCY,

Heat can _ radiate  from objects like the sun.

2 Y 22 SH2RH LAE 4 AT

Scientists use  thermograms  to detect infrared rays.
RS2 Hels HAloh | #lot 2= 7|ISE=E AtSeltt,
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1 _ Static electr1c1ty is an electric charge that builds up on an object by

rubbing  or friction.
2 The flow ofelectric charge through a wireis  current electricity.

3 A series circuitis a circuit that has only one  path for the current to follow.

4 A parallel circuitisa  circuit  that has more than one path for the current
to follow.

5 Electricity  can have both positive and negative  charges .

6 A __ conductor is material that lets electricity easily move _ through it

7  Material that does not  conduct electricity wellisan _insulator

8 A _ metal surrounded by a coil becomesan _ electromagnet when an
electric current runs through the coil.

9 A generator isa machine that can produce electricity.

10 Hydroelectric  power is created from water.

() s Zolsigsts Clolg Zat HIZIo| Al A MALQ,

HHSICE | insulate | insulator insulate
SMSICH | charge | recharge charge

032 open circuit | closed circuit closed circuit
238 01Xl | geothermal energy | kinetic energy | kinetic energy

(@ =101 UL cioiz 22t 23 PBIALL,
' human body conductors wires copper materials
thunderstorms insulators flow prevent metals

Electricity can move thanks to 1 conductors . These are 2 materials  that let

electricity move freely. Gold and silver are very good conductors. Some people make
wires out of them. But they are both expensive. So, people often use other conductors
to make 3 wires . Most electrical wires are made from a conducting metal, such as
4 copper . What are some other conductors? Lots of 5 metals are conductors.
Water is an excellent conductor. That’s why it’s a bad idea to go swimming in
6 thunderstorms . Lightning can strike the water and hurt or even kill a person. The

7 _human  body isalso a conductor. That’s why people need to be careful around
electricity. Of course, people may want to stop the 8 flow of electricity. To do this,
people use 9 _insulators . They 10 prevent electricity from moving from place to

place. Plastics are very good insulators. Paper and rubber are also insulators.
39



1 =oy artery . 9 respiration S&

2 Xai vein 10 immune system < &7
3 hS% _aorta  n inhale _(£2) ol

4 St blood vessel 12 exhale (&2) W#ct

5 ¢ blood cells 13 respire &S5t &4t

6 SAT platelet 14 resist Xglstct, ZACLHCE
7. =2 blood pressure 15 ventricle A&

8 Aldk heart rate 16 atrium At

artery aorta respiration immune system blood cells
platelet vein heart rate blood pressure blood vessel
1 Veins  are tiny blood vessels that move blood around the body.

Hoe 220 HU2 S5 sl M2 BaSo)

(e k] =1= = — e 2=

2 Arteries  are the tubes that carry blood from your heart to the rest of your
body. S32 dxoztE 250 s Mo LI2E #olch
3 Blood circulates throughout the body in  blood vessels

A2 S L0 25= Rfelith

4 There are three types of _ blood cells  in your body.

S50l M EFe| 47t Uek

5 Platelets  help stop bleeding when you get a cut or are wounded.
AT H|0[AL CINlE M X[Zoke As s=C0t.

6 Blood pressure is the force with which blood flows around your body.
22 U0l 255 === 20|tk

7  The act of breathing is called _ respiration

42 4= #oI2 SE0fztn B2t

8 Thebodys immune system  fights diseases and keeps people healthy.

Qo H M= HEut MR AlRfs ddohAl FXl6H &0
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Force isanything that affects another body and causes it to _react in some way.

2 Motion isa  change of position of an object.

3 Position  isthe  location of an object.

A Velocity ~ measures the  rate  of speed of an object.

5 Acceleration  measures the rate that something  increases  in speed.

6 Thelawof inertia  saysthatthe state of motion of an object does not
change until a force is applied to it.

7 _ Gravity istheforceof attraction between Earth and other objects.

8 Gravitation _is the force that acts between any two __ objects  and makes

them attract one another.
9 Twobodies rubbing against each other cause  friction .

10 The fixed pointofa lever isthe fulcrum

@ Q2|9 L£oj| SHTiSt= TS Z2t HIZIo]| Al BHA MA|Q
7H&sict decelerate | accelerate | accelerate
H&Sict decelerate | accelerate | decelerate
=0{g7Ict pull | fall pull
el inertia | friction inertia

O =7eIM Qe tloiz B2t 3.2 oMgBiALL,

interactions scientists gravity motion physics
acceleration reaction force inertia discovered

Sir Isaac Newton lived in the seventeenth and eighteenth centuries. He was one of the
greatest 1_scientists who ever lived. He worked with light. And he also 2 discovered
gravity and the three laws of 3__motion . Supposedly, Newton was sitting under an
apple tree one day. An apple fell and hit him on the head. So he started thinking about
gravity. He realized that it was 4 gravity that caused objects to fall to the ground.
Newton’s three laws of motion are incredibly important to 5 physics . The first law
says that the state of motion of an object does not change until a ¢ force is applied
to it. It is often called the law of 7_inertia . The second law of motion is called the law
of 8 _acceleration . It is often written as F = ma. That means “force equals mass times

acceleration.” The third law says that for every reaction, there is an equal and opposite
9 reaction . The third law means that all forces are 10 interactions
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1 &7 static electricity .9 generator 27|

2 SX7|, wF 7| _current electricity 10 hydroelectric  $E4ZQ|

3 2™ 3|2 series circuit 11 conduct Mzsict

4L HE 32 parallel circuit 12 insulate HHSICH

5 Zist charge 13 charge ALt X6

6 M=R| conductor 14 closed circuit  HE|2

7 HGA| insulator 15 potential energy X oflix], x| KILAZ]
8 XXM electromagnet 16 kinetic energy 25 0|

71o|l QoL ake H7|o| A 22t LRSI SHo| G| X MAQ,

parallel circuit charge static electricity generator
current electricity insulator hydroelectric power  electromagnet

Electricity can have both positive and negative  charges .

= Lotet 8ot = O 7HE 4~ AUCL

Static electricity  is an electric charge that builds up on an object by
rubbing or friction. Hx7l= 2X|27{Lt OFol| Ofsh O S| Pof LUAsH= F5t0]ct,

The flow of electric charge through a wireis  current electricity

Mg Sot 2i5t0] 20| WRX7I0|CH

A parallel circuit  is a circuit that has more than one path for the
current to follow. &2 s|2& TRI 52 A2 5Ht 0l 7kX|1 QU= sl=0|ct,

Material that does not conduct electricity well isan _ insulator

IS & M=ok e S22 Rl

A metal surrounded by a coil becomes an __electromagnet  when an electric
current runs through the coil. 2Y= 2Mel 242 MRIt 2YUS Sl S2| = HARA0| €t

A generator isa machine that can produce electricity.

LT |= TS i o = 71AH0lc,

Hydroelectric power is created from water.
22 F|= SRS MNE,

[




&

21 Daily Test ol ’

1 Improper  fractions have numerators that are the same or greater than the
denominator . i and are improper fractions.

A mixed numberisa combination ofa whole number and a fraction.

% and % are _ equivalent fractions since they have the same  value .

2
3
. 1 ) .
4 A unit fraction has a numerator of 1. The fraction "5 is a unit fraction.
5

A common factor is a number that the numerator and the denominator can
be divided by. 3 isacommon factorof 9 .

6 In the fraction i%, 6isthe greatest common factor of 12 and 18.
7  'The fractions % %, and - havea common denominator of 7.
8 Put % inits  lowest term

9 The simplest form of % is i

10 The third place to the right of the decimal point is the thousandth’s place.

() 9212 ol sigsti Clolg Tat Hizol Ml 1Y MAlQ,

2E=28ICH | round down | round up round up

7t improper fraction | unit fraction | improper fraction

ChEs mixed number | simplest form mixed number

3%+ common denominator | common factor
common factor

words fractions % decimal eight
tenths one-sixth Zero simplest 0.9

You can write both fractions and decimals as numbers and ©__words . For example,

write the fraction two- thlrds as 2 3 . However, there are other ways to s 5y

3 fractions . You can say that -1 < is4_one- 51xth or one out of six. And the fraction -

could be five divided by 5_ eight . As for decimals, you usually just say the 1nd1v1dual
numbers to the right of the ¢ decimal point. For example, 1.1 is one point one. 2.45
is two point four five. However, for some decimals, you can say them as fractions.
0.1is 7_zero point one or one-tenth. 0.7 is zero point seven or seven 8 tenths .

Sometimes, you can write a fraction in easier terms. This is called its 9 simplest

form. For instance, think about the fraction i In its simplest form, it is 5-. And the

simplest form of i is = 1 . Finally, you can sometlmes write fractions as decimals. The
fraction % can be 0.2. The fraction % canbe10 09 . 43
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1 & force . 9 velocity &=
2 2=, 2%l2l motion 10 gravity =
3 2Ix| position 11 gravitation 2= ==
yAR === acceleration 12 decelerate Z=5ict
5 IHA inertia 13 attract =01g7Ict
6 OFE friction 14 pull =01g7Ict
7 K= fulcrum 15 fall To{X|ct
8 7I&3ict accelerate 16 law of motion 252| HZ
7tofl 4gko ako H 7oA Z2 T SHH 2OHO|| G| 11X MA|Q
””””” force  motion  velocity  inertia  acceleration |
gravity fulcrum friction position gravitation

Force  is anything that affects another body and causes it to react in some way.

22 o EXof| Seks 1 2= o Ao 2= BISsHA| ol= A0|Ct,

Position is the location of an object.
Xz o SAI7F Af2[et o|c,

Velocity  measures the rate of speed of an object.
25l Of 2H(O 4242 LI

- =

The law of _ inertia  says that the state of motion of an object does not change
until a force is applied to it.

ol HRl2, o =XQ] 25 = O 80| 220l A& W7ikl= #HokK| =t 2

roh

tC,

Gravity  is the force of attraction between Earth and other objects.

SE2 Xt TE =A Ao]9] 20{E7 = 2ol

Gravitation s the force that acts between any two objects and makes them
attract one another. /22 of@ & x| Afojoi| 2&5104 M= B |7 SH= Foct,

Two bodies rubbing against each other cause  friction .

Mz AXlE F SHle 0HES gt

Acceleration  measures the rate that something increases in speed.
7t&E= O 29| £271 SVI6k= BIES LIEHHT,
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1 A _ plane isa_ flat surface that keeps going without end in all directions.

2 Arectangle is an example of a__ two-dimensional  figure.

3 Aline goes on forever in both _ directions ,buta  segment hasa beginning

and an ending point.

4 A ray isapartofaline that has one endpointand  continues  without end

in one direction.

The place wherea  line  segment stops is its __endpoint

5
6 Thesizeofan angle ismeasuredin  degrees (°).

7 An  acute angle  measures greater than 0° and less than 90°.
8

9

An __ obtuse angle measures greater than 90° and less than _ 180° .
A right angle measures 90° .
10 A straight angle measures 180°.

() a1 Zolsigisti Clolg Zat HIzio| Al B MAlQ,

] classify | intersect classify
~0f B35St | perpendicular | parallel parallel
27| protractor | compass protractor

straight degrees angle depends right
acute obtuse triangles square perpendicular

When two line segments meet at the same endpoint, they form an 1 _angle . The size
of an angle is measured in 2_degrees . An angle can measure anywhere from 0 to 180
degrees. There are four different kinds of angles. What type they are 3 depends on
how many degrees they have. A 4 straight angle measures 180°. A straight angle

forms a line. The next kind of angle is an 5 acute angle. This angle measures more

than 0° but less than 90°. All triangles have at least one acute angle, and many have
three of them. A 6 right angle occurs when two 7__perpendicular lines intersect.

These two lines form a ninety-degree angle. This is called a right angle. All of the
angles in a 8 square or rectangle are right angles. Some 9 triangles have one right
angle, so they are called right triangles. The last kind of angle is an 10 obtuse angle.
An obtuse angle is more than 90° but less than 180°. Some triangles have obtuse

angles, but a triangle can never have more than one obtuse angle.
45
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1 7HEe improper fraction . 9 lowest term _ 7/of24

» (s mixed number 10 thousandth 1000%ml, 100022 1
e equivalent fraction 11 reduce to one’s lowest term  2k=E5iCt
4 ErE unit fraction 12 putin one’s lowest term _ 2f=sict
5 3% common factor 13 round dksalsict

6 Z|CHES4  greatest common factor 14 round up KEIE (~2) HrEElsirt

7 E2EEQ common denominator 15 round down 2=:2|E (~2) EzhH2|ct
BR[OFEE simplest form 16 be equivalentto ~2 2}, ~2f S710|Ct

71| QUGLO THS. WT|oflA D2t WRBHH SOl I K| MAlQ,
common factor improper fraction mixed number  greatest
unit fraction common denominator  simplest form thousandth'’s
Improper fractions  have numerators that are the same or greater than
the denominator. 7/24-= 229} 2Lt 22t 2 2X12 71|10 QUCk
A mixed number  is a combination of a whole number and a fraction.
s RiRieL 247t EBIEI0] YU 2Ol
A unit fraction  has a numerator of 1.
Eropas HX7} 101 EA0|C,
A common factor  is a number that the numerator and the denominator

can be divided by. Zoi+= 2xtet 227+ 2710 ofsl LI 4= QL= 4-0|Ct,

In the fraction %% ,6isthe  greatest common factor of 12 and 18.

24 18 OHH 6= 122+ 182 Z|chE~0]CH,

The fractlons% R and havea common denominator of 7.
saf 2 5L aeanygy rxm Qlct,

ﬂ

The simplest form  of O is %

6
0 & 7leErE *OIEf.

The third place to the right of the decimal point is the  thousandth’s  place.
apd QLEZS| M B Xf2l= 1000 O| Xt2[0|et,
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1 Any_ closed object with three or more sidesisa  polygon

A quadrilateral  isany polygon thathas  four  sides.

Both squares and rectangles are  parallelograms

A diagonal isaline thatgoesatan angle .

The line  segment between two points on a circleisa __ chord .

The  radius ofacircleis  half the length of the diameter.

2

3

4

5

6 A __ diameter isa chord that passes through the  center  of a circle.
7

8 Allthreesidesofan  equilateral triangle are the same length.

9

Transformation is the movement of a figure by translation, rotation, or _reflection .

10 A formula isaway of writing a mathematical rule by using numbers.

() o1 Zosigst Clolg Zat HIZio| Al HA MALQ,

AlASHCH measure | figure out figure out
M= length | width length
HAHAHH™ | trapezoid | parallelogram parallelogram
Z|Zk 24 | acute triangle | right triangle | right triangle

equilateral less than lengths angles acute
isosceles characterized scalene sides 90°

Triangles are geometrical figures that have three sides. There are several kinds o

triangles. They depend on the type of ©__angles in the triangles and the 2 lengths
of the sides of the triangles. The first three types of triangles are acute, right, and
obtuse triangles. An acute triangle is one where all three angles in the triangle are
3 acute . So each angle is less than 90°. A right triangle has one angle that is 4 90°
. And the other two angles are acute. Finally, an obtuse triangle has one angle that
is more than 90° but 5 less than  180°. Next, there are three types of triangles
that are 6 characterized by the length of the triangles” sides. They are equilateral,

isosceles, and 7__scalene triangles. 8 Equilateral triangles have three sides that

are the same length. All three angles are always 60°, so they are also acute triangles.
9 Isosceles triangles have two sides with equal length. And all three 10_sides ina

scalene triangle are of different lengths.

47



() s goiz, oot Qa1 AR,

48

(el plane . 9 rightangle =24

2 xHH dimension 10 straight angle &z

2 i segment 11 intersect WS

4 BEINray 12 parallel ~ofl Batsict
5 28 endpoint 13 protractor 2tz

6 = degree 14 compass ZHA

7 ozt acute angle 15 perpendicular line #EM
8 =zt obtuse angle 16 diagonal line  CHZiM

HIZIol| QOFS Gre HY|ojA] 2t LRstH Suol O TH MAQ,

acute angle  obtuse angle plane two-dimensional  segment
right angle straight angle endpoint  degree ray

1 A _ plane isa flat surface that keeps going without end in all directions.

fol=]

H2 2= defoz E810] 0[0{A|= B&EsH HO|ct,

2 Arectangle is an example of a__ two-dimensional  figure.

EIAZISE B =59| of ot

A ray isapartofaline that has one endpoint and continues without end in
one direction. BHIN2 sito] 2Fo| U 5t grefo@ Bgl0] 001Xl 9| YREO|Ct,

4 Aline goes on forever in both directions, buta  segment has a beginning and

an ending point. 42 gsio= BLI0| O|X[X[2E HES ARFED ZHE JHX| 1 Qlct,

5 The place where a line segment stops is its__endpoint

20| = X0l 2Folck

6 An__ acute angle  measures greater than 0° and less than 90°.

ofz= 0=t 210 90"t AT,

7  The size of an angle is measured in __degrees  (°).

2ol 7= &()= SEErt,

8 A right angle  measures 90°.

|22 90°0|ct,
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1 Elapsed  time is how much time has  passed  from a certain point.

2 People conduct _ surveys totrytoget information from many different
sources.

People use  diagrams  to display data  they have collected.

A chart isawayto display data or information.

Circle graphs  can be used to show percentages in picture form.

The middle numberina sequence isthe median .

3

4

5

6 The mean isthe average value of a group of numbers.
7

8 The mode isthe number found most often in the data.
9

Frequency isthe rate at which something happens.

10 Probability is the likelihood that something will  happen .

() a1 Zoisigst Clolg Zat yIZio| Al A MALQ,

delstct | organize | predict organize

ZHH x-axis | coordinate grid coordinate grid
Fo PN median | mean mean

Z[9Igt mode | frequency mode

O =714 e ciolg B2t 32 ABINL.

research conduct information analyze raw data
organize diagrams visual aids data interpret

People often ©__conduct research. They may 2 research a topic and find as much
information as they can about it. Perhaps they want to know the daily temperature in
a region for an entire year. Or maybe they want to know how many books students
read during a semester. First, they decide what 3 information they want. Then they
collect the data. But the 4 raw data  they collect could be useless by itself. So
they need to 5 organize it. One common way to organize data is to use charts and
6 diagrams . This lets people see the visual results of their 7 data . For example,

perhaps the researchers have some data on how many books each student reads. They
can put that data onto a bar graph. This will let them 8 analyze it more easily. Or,
maybe they know the average temperature for each day of the year. They can organize
it into a circle graph. By using these 9 visual  aids , they can 10 _interpret their

data much more easily. "
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1 Chzrs polygon . 9 transformation 3} x|2

2 ApHHA quadrilateral 10 formlass ==

3 TAMHSE parallelogram 11 construct (=82) Zl=aslct J2|ct
4 oizkd - diagonal 12 figure out_ Zteict, 2opct

5 S chord 13 length M=, Z0]

6, A= diameter 14 width 712, =, LH|

7 HIX|E radius 15 height =0|

8 SHY equilateral 16 righttriangle ZiZI 412t

() 701 Qe S BIoIA B2t LRSIH R0 G TH ML,
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parallelogram polygon quadrilateral chord formula
transformation diameter equilateral radius diagonal

Any closed object with three or more sidesisa __ polygon
Ml 71 ol&e] HE TRl 2ol =2 O A0|= CHRIHO|CH,

A quadrilateral  is any polygon that has four sides.
AHHSE2 O 20| Hl 7He] #HE JHE oi2i¥o|ot,

Both squares and rectangles are  parallelograms
AR 22 = OF HAARAS0IC,

The line segment between two points on acircleisa  chord .

2 210| £ & Aj0|S U= A2 So|ct,

A diameter isa chord that passes through the center of a circle.

S22 B9 S A= ol

All three sides of an __equilateral  triangle are the same length.

SH Ao M #HE2 25 Z2 Z0[o[Ck

Transformation  is the movement of a figure by translation, rotation, or
reflection. #2H2 0|5, &), gF Sofl oJst 39| 2=IJo|ct.

A formula isa way of writing a mathematical rule by using numbers.

TAS 2XIS AIZ510] 43t HAIZ B weo|Ct



5 Daily Test

CHS Bt X =71 H|Z}0| QIO CIOJE HIOLMA|Q.

r

1 Norse  mythology tells stories from  Scandinavian  countries.

The Norse gods all lived in the  land  called  Asgard .
Odin  wasthe greatest of all the gods in Norse mythology.
Ragnarok wasthe end of the world in Norse myth.

Trolls  were huge  monsters that lived underground.

2

3

4

5 Tricksters  like Loki constantly tried to _ fool  people.

6

7 A_ dwarf wasavery small person who lived underground.
8

Valkyries  were female winged = messengers  that  collected  the souls

of dead warriors.

9 Thesouls of warriors who died in battle lived in  Valhalla .

10 The tales of Norse mythology were toldin  eddas .

() a1 Zoisigst Clolg Zat yIZio| Al A MALQ,

HERICH trick | swing trick
slF2ct trick | swing swing
o] troll | dwarf dwarf
A7 |CH reincarnate | Valhalla reincarnate

Odin Norse violent trickster Asgard
Thor hammer mischief Frigg goddesses

Norse mythology comes from northern Europe. The 1 Norse were Vikings. They

lived in the area that is Norway, Sweden, and Finland today. The Vikings loved to fight
and make war. So their stories often are very 2_violent . There were many Norse gods.
3 Odin was their leader. He was very wise. Odin always had two ravens. They were
thought and memory. They told him everything that happened in the land. 4 Thor
was the god of thunder. He was the most powerful of all the gods. He carried a great
5 hammer that he often used to kill giants. Loki was the god of ¢ mischief and fire
and was a half giant. He was also a 7_ trickster , so he caused many problems for the
gods, especially Thor. 8 Frigg was Odin’s wife and was also the goddess of marriage.
And Freya was the goddess of love. There were also many other Norse gods and
9 goddesses . The gods lived at 10 Asgard . They often had to fight their enemies,

like frost giants and trolls. 61
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1 A A2t elapsed time 9 frequency I =5

2 (HEE)ZA} survey 10 probability =&

3= s diagram 11 take (ZAL 22 S2) 5ict

L XE ER chart 12 conduct =lsiCh X2[siCH

5 Jef= graph 13 make a prediction GI=sich olldfsict
6 TH HAX|] mean 14 order Helolth =AME o7 |ct

7 Bz median 15 organize  _ mIZSISIck Balsict

8 ZEHIZt mode 16 coordinate grid Zt®

71o|l QoL ake H7|o| A 22t LRSI SHo| G| X MAQ,

frequency mode diagram median chart
elapsed time mean probability survey graph
Elapsed time  is how much time has passed from a certain point.

b AlZk2 O Ao 2 R E| 2ot B2 AZI0| X|t=2t ske Z0|e,

People use  diagrams  to display data they have collected.

AMHS2 I50] #Let HI0|EE B0 57| floll =4S ArEelTh

The mode is the number found most often in the data.
ZRIZF2 HI0IHAIAM 7 X2 27AEl= <Xf0|Ct,

The middle number in a sequence is the ~ median .

O ~EO| SZH AP SYZBLO|C,

Frequency is the rate at which something happens.

== O 20| Zisk= HIE0|o

The mean isthe average value of a group of numbers.

o2 o X152 Ex(0[C.

People conduct  surveys to try to get information from many different sources.

AHES W2 Ciefer YEHO2RH HEE 7| flol E2ZAE 2AlBIT,

A chart isa way to display data or information.
AIEE HO[HU EE 20 = of Zyo|ct
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1 Nouns, verbs, and adjectives are parts of  speech .
The  subject  of a sentence tells what the  sentence  is about.

The predicate of a sentence tells what the subject of a sentence is or _does .

2

3

4 Conjunctions  combine two sentences or  phrases  into one.
5 A __ complete sentencehas both asubjectand a predicate.

6

Run-on  sentences are sentences that are too long and need either a
comma  or a conjunction.

7 The tense shows the time — past, present, or future — that the  action in
a sentence occurs.

8 Usage  is the way that words are used ina __ language

9 Periods , commas, and question marks are all forms of  punctuation

10 The subjectand  verb  must show agreement in every sentence.

() a1 Zolsigisti Clolg Zat Hizto| At MAlQ,

ZYAIZICE | combine | separate combine
=25t combine | separate separate
UX|StCt fix | agree agree

ST AL past tense | present tense | present tense

(O =711 wate cloiz Bt 2.2 gL,

agreement run-on combination mistakes subject
conjunction singular wrong complete plural

All sentences must have a 1__subject and a verb. Some sentences can be very short.
For example, “I ate,” is a 2__complete  sentence. Why? It has a subject and a verb.
Other sentences can be very, very long. People often make 3 mistakes when making
English sentences. One common mistake is the 4 run-on sentence. Look at this

sentence: <I went to the park I saw my friend.> It’s a run-on sentence. A run-on
sentence is a 5 _combination  of two sentences that either needs punctuation or a

6 conjunction . All sentences need to have subject-verb 7 agreement . It means

that if the subject is singular, the verb must be 8 singular . And if the subject is
plural, the verb must be 9_plural . Look at this sentence: <Jason like to play computer
games.> It's a10_wrong sentence. Why? It doesn’t have subject-verb agreement.
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1 T AZiC|Ltd|ole]  Norse . 9 Valhalla g2t

2 OfAJt2= Asgard 10 edda =]

3 Sk QOdin 11 trick £0|Ch ZEERICH

4 Mol 32 _ Ragnarok 12 fool =2\, 2ot

5 EZIAF trickster 13 swing 3==ct HEsC

6 EE troll 14 name after ~9| 0|2 WA HHSICH
7 ‘o] dwarf 15 reincarnate _ EMA|7|Ct

g8 wI|z| Valkyrie 16 Thor EZ2(RS9| A

() 701 Qe S BIoIA B2t LRSIH R0 G TH ML,

Ragnarok trickster Norse Asgard troll
Valkyrie dwarf Valhalla Odin edda
1 Norse  mythology tells stories from Scandinavian countries.

S7E deks AZIT|LH[O LI2ES0IM REE 010K IS5 SSETL

2 The Norse gods all lived in the land called ~ Asgard .

SREQLSE 2F ofAv=ERt 2= ol AUCH,

3 Ragnarok  was the end of the world in Norse myth.
SRE A=l 2aL23E Mool SO,

4 Tricksters  like Loki constantly tried to fool people.

272 22 ESAHSE BUR0| AHES =T Ho (= ofRiCk

5 Trolls  were huge monsters that lived underground.
EE2 Xlstoll A= AHtiet 2IZ0|AC

6 A dwarf wasaverysmall person who lived underground.

H0l= X[5toll A= OfF= A2 AR—HOIACE,

7  The souls of warriors who died in battle lived in ~ Valhalla

THOIM =2 TS S22 Lol A HRUATE,

8 The tales of Norse mythology were told in __eddas .

SR A=te] 0[0IS2 ool M HeiRC
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1 Cathedrals  were enormous churches people built in the ~ Middle  Ages.

Many cathedrals had  spires  that reached high in the  air .

Buttresses  were supports that kept the cathedrals from  collapsing

The  Gothic Age  was the time when many cathedrals were built.

Gargovyles  are stone statues of monsters that are often found on cathedrals.

Icons were representations of _images  that were popular in the Middle Ages.

A statuette isaverytiny statue .

2

3

4

5

6 The stained-glass windows in cathedrals show many scenes from the Bible.
7

8

9

Monks made _illuminated  manuscripts by writing and drawing pictures in
books .

10 Tapestries  were carpets that had pictures on them and were often  hung

on walls.
() a1 ol sHegsis Tiols Zat wiziol Al A AA|Q,
by e inspire | emphasize inspire
DALSHCH represent | depict depict
X|=HSICH hold up | build up hold up
st majesty | majestic majestic

religion churches supports cathedrals buttresses
ceilings Gothic stained-glass enormous Bible

In the Middle Ages, " religion was a very important part of people’ lives. Almost
everyone went to church on Sunday. So building 2 churches was important. Some
towns and cities built huge churches. They were called 3 cathedrals . There were
many different styles. One important style was Gothic. The 4 Gothic  Age lasted
from around the twelfth to sixteenth centuries. Gothic cathedrals were 5 enormous .

Their builders made them to impress many people. So they look like they are reaching
up into the sky. The reason that they are so high is that they have ¢ buttresses

These are 7__supports that help the cathedrals stay up. The cathedrals also had many
8 stained-glass windows. These showed scenes from the 9 Bible . Also, they
allowed a lot of light to enter the cathedral. Inside the cathedral, the 10 ceilings were

very high. This made them look even more impressive. 5
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4

1 ZAl part of speech . 9 punctuation 7= 7T
2 F0|, =2  subject 10 agreement X[ 53

3 20| 28 _predicate 1 combine _ ZEWPIct Exict
4L TEAL conjunction 12 connect HZsict alct

5 2tMst 22Xk complete sentence 13 agree AUX|SICH

6 BEX|2 run-on sentence 14 separate £2l5iC}, 7=t
7 AIA| tense 15 divide LE=CE

g 234 ofH, . usage 16 fix OX|Ch $F5ICh

710f| UTEC 0RO B 7[Of|A] Za} L QS0 SOHO|| DA A MAQ.

complete sentence  usage  subject punctuation  agreement
run-on sentence tense predicate  conjunction part of speech
Nouns, verbs, and adjectives are _ parts of speech

AL SAL SEA= SAI0IEL

The  subject  of a sentence tells what the sentence is about.

S7t0| Zof= 20| £ et ZOIIE Uit

The  predicate  of a sentence tells what the subject of a sentence is or does.

=g 20z 289 07t FANUX| =2 FA= ol=XIE Zelth

Usage is the way that words are used in a language.

(S
o2 ef 200l 0127 A2 =l= E-o|ct,

A complete sentence  has both a subject and a predicate.
Q]

S 2E2 0 2018 = T 7HX[AL QoL

The subject and verb must show __agreement  in every sentence.
= =J0IM 7012t SAl= LXIE EH0f Sict,

The  tense  shows the time — past, present, or future — that the action in a
sentence occurs. AlMl= 20l 7t LojLi= T - 2bA, S, 02 - S = =Ch

Conjunctions  combine two sentences or phrases into one.
YEAE & 2E0IH 75 stz gxich




28 Daily Test

() cte 2T 2 uIzo) UG TiolE HopALR,

r

1 A mosque iswhere Muslims goto worship .

2 A dome isaroundedroofor ceiling on abuilding.

3 Minarets  aretall towers thatare connected to mosques.

4 Domes and minarets are the main __ features  of Islamic __ architecture
5 There are many  terra cotta  statues in Africa.

6 Chinese artists often painted pictureson  silk .

7  Chinese artists used long  scrolls  to make  pictures  on.

8 Calligraphy  isthe art of handwriting

9  The Chinese made excellent  pottery .

10 Porcelain  is a kind of pottery that is often _ white  in color.

() o1y Zolsigsti Clolg T2t HIZio| Al HM MAlQ,

=Lt carve | mold mold

HASICH decorate | stamp decorate
sMet tiny | delicate delicate
(O|&3 AtQl) B | mosque | minaret | minaret

restricted combine mosque Allah architects
examples minaret domes styles well-known ‘

Islam began in the seventh century. Since then, there have been many 1 styles o

buildings designed by Muslims. They all 2_combine to make up Islamic architecture.
In Islam, art is 3 restricted . There should be no images of 4 Allah - the god of
Islam. Also, there should be no pictures of people either. So, many of Islam’s most
creative people became 5 architects . One of the main features of Islamic architecture
is the 6 minaret . These are tall towers. There are usually four minarets at every
7_mosque . Domes are also very popular features. 8 Domes are rounded roofs of

buildings. Many mosques have impressive domes. As for famous buildings, there are
many. The Dome of the Rock is in Jerusalem. It is one of the earliest 9 _examples of
Islamic architecture. The Sultan Ahmed Mosque is in Istanbul, Turkey. It is another
10_well-known building. And the Taj Mahal is located in India.
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1 M cathedral 9 illuminated manuscript _ & (Z)AR=
2 Y spire 10 stained-glass window AHRI=Z2tA A2
3 24 HEl  buttress ~u inspire I2sick TElsICH

4 DA _Gothic Age 12 emphasize _ ZZsict, otsict

5 O|RZI= gargoyle 13 depict J2|ch SASIEL

6 ofo|= o 14 represent _ UEfirh Esisict, Jaicy

7 &S ZZW _statuette 15 holdup _xistsich, Sxisict

8 HZo| 8=t tapestry 16 magnificent &5t SIS FO{Lt

HIZIol| QOFS Gre HY|ojA] 2t LRstH Suol O TH MAQ,

stained-glass spire statuette icon cathedral
Gothic Age tapestry buttress gargoyle manuscript

Many cathedrals had ~ spires  that reached high in the air.

e PSS ot 50| £2 HEES 7IXIT UL

Buttresses  were supports that kept the cathedrals from collapsing.
SHE thdE0| FUHRIX| H=F X-shE HECHAC

Icons  were representations of images that were popular in the Middle Ages.
Ol0|Z2 SAMofl 73U O[0[X| HO[RIC.

Cathedrals  were enormous churches people built in the Middle Ages.

g2 AFS0] SMIo X2 e ws|RUC

Monks made illuminated ~ manuscripts by writing and drawing pictures in
books. #=AS2 & 40 2 A1 S T2 ZO{M A TARES PHSAUCE

Tapestries  were carpets that had pictures on them and were often hung on
walls. =Zio| 802 1 2lofl 2ol 2l &3] =Hofl Z2|H 715oIRct

The  Gothic Age  was the time when many cathedrals were built.
DA 242 SIS 0] XIOPEE! A IRiC

A statuette  isavery tiny statue.

A2 O X2 Z2Hal0|Ct
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Musical  notation  allows musicians to read and  play  music.

The musical  pitch  isthe tone of the music.

A tie isacurved line that ties the notes together.

Sometimesa bar  connects two or more  eighth notes

A dotted note means that the note should be increased by _ half .

Barlines divide the musicinto measures

Composers usea _ single bar line  to mark the end of a measure.

Composersusea  double barlineto mark the end of a piece of music.

O 00 NN O o1 ~ W BN

A sharp  shows that a note should be played half a tone _ higher .
10 A _ flat shows that a note should be played half a tone  lower .

() a1y Zolsigsti Clols 2t HIzio| Al B BAlQ,

=z|ct raise | lower raise
INES) follow | hold hold
%A 20N | legato | staccato staccato
of2|A| piano | pianissimo piano

piano pianissimo forte speed softly
loud dynamics loudness mezzo moderately

When musicians play their instruments, they must do more than just read the notes
and then play them. They must know the 1 speed  that they should play the music.
And they must also know the dynamics. This means they must know if they should
play 2_ softly or loudly. How do they know that? On the sheet music, they will see
the letters p, pp, mp, f, ff, or mf. These letters are all related to musical 3 _dynamics

They indicate the softness or the loudness that the musician should play. p stands for
4 piano . It means the music should be played softly. There are also pp and mp.

pp means 5 pianissimo , which stands for “very soft” And mp means mezzo piano.
This means “6__moderately  soft” Of course, some music should be played loudly.
When a musician sees f, it means 7__forte . That stands for “loud.” Just like with soft
music, there are two more degrees of 8 loudness . The first is ff. That’s fortissimo,
which means “very 9 loud ” And there is mf. That’s 10__mezzo forte, which means

“moderately loud”
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1 BAF mosque . 9 pottery =AMl =i

2, & dome 10 porcelain %P XU

3 (O]&2 AFRQ)) AEl  minaret 11 carve MZ|CH Z=2t5HCt

4 0|&=t A=Z2  Islamic architecture 12 mold =0l 2 St=C} 2t
5 H|2IZE} terra cotta 13 decorate  ZAIGiCH

6 H|E silk 14 stamp 2olsict =2 At

7 =2pg|  scroll 15 delicate ANt 12 2egi2
8 Aol calligraphy 16 fine s =

() 701 Qe S BIoIAM B2t LRSI R0 G TH ML,
minaret porcelain terra cotta mosque dome
scroll pottery Islamic architecture calligraphy silk

1 A __ mosque is where Muslims go to worship.
2AT= 058w E=S0] o =2[21 7h= Ro|ck

2 There are many __terra cotta  statues in Africa.
ofZ2|7lofli= B2 HIZtTE &S0 QU

3 A dome isarounded roof or ceiling on a building.

=2 d=9 2 XS0l HFolCh

4 Minarets  are tall towers that are connected to mosques.

HEE2 22430 AZE0 A= =2 Holok

5 Domes and minarets are the main features of  Islamic architecture

S HER ol=% UE=9 2 EYS0IL

6  Chinese artists used long  scrolls  to make pictures on.
5 5152 1 90 22 J2)7) sl 71 £R0kIS ALBRCE

7  The Chinese made excellent  pottery .

S=US2 0F 288 AV IE TERUCL

8 Calligraphy is the art of handwriting.
Moll= £2MQ] olle0]Ct.
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1 An orchestra typically performsina  concert hall

2 The musicians __ wait backstage  before they come out to perform.

3 The conductor waves his _baton ashe conducts the orchestra.

4 A fugue involves several instruments playing the same theme in turn .
5 A persons _ vocal range ishowhighand low he or she can sing.
6 Apersonwitha high voice  can sing high notes.

7 Apersonwitha low voice  can sing low notes.

8 Many monks sang chants without using any instruments.

9 Gregorian  chants often havea  monotonous  sound.

10 The tempo isthe speed of the music.

() a1 Zolsigst Clolg 2t HIzio| Al B4 BAlQ,

ZEoICt tune | take turns tune
TESICH chant | distinguish distinguish
Enedl alto | soprano soprano
Hi2|= bass | baritone baritone

audience Hallelujah Messiah quartets works
composers influenced Baroque recognizable chorus

Two of the greatest of all classical music ' composers were George Friedrich Hande

and Joseph Haydn. Handel lived during the 2 Baroque Period in the eighteenth
century. He was German. But he lived in England for a long time. Some of his music is
very popular and well known all around the world. He wrote Water Music and Music
for the Royal Fireworks. These are two easily 3 recognizable pieces of music. But his
most famous music by far is his 4 Messiah . It is an oratorio that tells the life of Jesus
Christ. From the Messiah, the most famous piece is the 5 Hallelujah  chorus. Today,
when orchestras play the Hallelujah ¢ chorus , the 7 audience always stands up.

Joseph Haydn was one of the best composers of the Classical Period. He composed
hundreds of sonatas, symphonies, and string 8 quartets . He also 9__influenced

many other composers. Beethoven was the greatest of all his students. Two of his best
10_works are the Surprise Symphony and The Creation, an oratorio.
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7|8 musical notation .9 singlebarline &M2=
2x 29| 11X musical pitch 10 double bar line ZAMEZZ 0IEE
2= tie 11 follow =Ct m27 ot
22M bar 12 raise =2|C =0|Ct
BXSH  dotted note 13 lower SI=ch LH2|ef
AN measure 14 hold XIESalch Alsict
22" sharp 15 legato |7 HE(E2X| 2 2EEA)
=k flat 16 staccato - AEFIE(EA ZO0A)
7100 QLS TS B0k 22t LRSIE SaHol G| TH MA|Q
"""" single bar line dotted note  flat  bar  double bar line
musical notation measure tie sharp musical pitch
Musical notation  allows musicians to read and play music.
7= So7lS0| OhiE 2ln SR 4 U shECt
A tie isa curved line that ties the notes together.
=UE2 SHE= ME |0 = S40ICE
A dotted note  means that the note should be increased by half.
SESH=s 11 352 H0|E Bt =2lek= A 2olstth
Bar lines divide the music into  measures
MEE2 A== AHEE L=
Composers usea _ single bar line  to mark the end of a measure.

IISS Bt AHO| BS HABH| 205101 BNZES AIRstct
A sharp  shows that a note should be played half a tone higher.
=YHE ofd SHE U5 =34M SFolele AS LEHD)

Sometimesa  bar  connects two or more eighth notes.

Mz 2YM2 F I 0l¢e| sE25HE HZLIT,

A flat  shows that a note should be played half a tone lower.
HEEE O SHE BI5 WM AFclets XS HEHICE
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1 HOs rain shadow . 16 irrigate (EX[ol) S CHCE, 2UHSICH
2 Mg petroleum, oil 17 deforest - (ARIS) xisich, Hisict
3 QO BS HFX| _reservation 18 segregate _ =2[5iCh XIHSICH
4 B2 delta 19 Crusade AR
225AM  timberline 20 collapse SUX|C}, S2|=|Ct
6 =0/, 1=  elevation 21 emancipate _ SHSICH MYSiCt
7 Felst &St majestic 22 hypothesize _ 712 Mierh shssic
8 BT, 2= _inquiry 23 dissolve =Ch SoliEict
9 =2 33 inference 24 translucent SIS
10 O|MS microorganism 25 ventricle AlA
1 HYME _ protist 26 atrium A
12 TISHE) _evolution 27 probability &=
135 7~ conduction 28 inspire DSSICh w3lsict
14 CH = convection 29 depict J2|ct ZASICH
15 S common factor 30 legato g7 HE(@X| 2 2EA)

() wi7tol Qg 2 BIoIA B2t LRSIG 2ol G TH MA|Q,
acute angle fungus collision
gene complete sentence Norse mythology
1 Mushrooms and yeasts are two kinds of _ fungus .
BiXEE BB ARRO| § BR0IC
2 Genes  are what determine which traits an animal inherits from its parents.
FX=E S=0| o EdE O RR=RE S5E=71E Z28oh= Aol
3 A collision between two plates can cause earthquakes.

I = (&) o
B 10| B2 XTS AU 4 ULk

4n

4 An__ acute angle  measures greater than 0° and less than 90°.
oilzf2 o=t 31 90°=rt e,

5 Norse mythology tells stories from Scandinavian countries.
FE Aak= AZIC|LH|OF LIZHS0l|M R2lSt 0|0 |52 S2I&C,

6 A __ complete sentence  has both a subject and a predicate.
2Tt o2t £01E = tf 71X ATk
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1. EFEE cash crop . 16 reincarnate _ EA7ICH

2 A heritage 17 agreement %X 58

3 JNAX} pioneer 18 industrialization Afedst

4L =M medieval 19 reclamation 7H7h 7t

5 Z7F= _feudalism 20 meditate _ it

6 LOX= slavery 21 nucleus S, M|z sH

7' SdbelEl | secession 22 cytoplasm  M=Z

8 9H heredity 23 inherit Safiic gatsict
9 Za0|=, §_plate 24 continental drift _tiE 0lS
00— fault 25 velocity &

n S artery 26 gravity Bz

12 2EH 3|2 series circuit 27 formula e

135 2125 right angle 28 trick £0|ct, FitxIct
14 CHAMS cathedral 29 staccato AEPHE(EA ZOA)
15 7|&H musical notation 30 appreciate  AlESICH ZHASICH

() w1701 Qe 2 BIoIA B2t LRSI 2ol G TH AL

continental divide Hinduism civil rights
manor sharp blood vessel

1 Many blacks fought for their  civil rights  in the 1960s.

1960ACHof B2 SQI50] 52| STUHS 2fs MFECE

2 The__ Continental Divide  runs north to south along the peaks of the
Rocky Mountains. 27| 412 247 27| Moo 222|S w2t 220 HBo=2 #of UCt,

3 Hinduism  was a religion with many gods that began in India.

SlFuE Q=0 AREL B2 AME 71 SUC

4 Thelordlived in alarge manor and managed his estate from it.
= 7O YO 28N 09| ARKIE BT,

5 Blood circulates throughout the body in _ blood vessels

SHUS I KoM 222 2SI

o=

6 A _ sharp shows that a note should be played half a tone higher.

=HE= 0 SHE U5 S8 AFolee AS LEHHT
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